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b

Calculate the result and reduce it to lowest terms.

29 76 67 25 47 6 7 77
a) F 1o b) 0% ) 1113 d) 539

57 42 78 49 73 53 N 96 61
f) 79 19 ) 8 13 h) 55 - 99 )13 o1
2)
Calculate the result and reduce it to lowest terms.

1 16 3 1 5 1 19 23
a) 3 93 b) i1 7 ¢) G2 d) 59 - 91

8 21 12 13 19 1 - 21 7
f) 95 55 2) 211 h) 56 - 13 1) % 21
3)
Calculate the result and reduce it to lowest terms.

11 6 31 30 16 49 9 43
a) 15 * 13 b) 71 - 57 )17 % d) 511

9 5 37 29 7 45 o 23 11
f) 319 ) 11 37 h) 99 -7 i 7
4)
Calculate the result and reduce it to lowest terms.

4 5 13 2 15 3 10
a) g log b) 50 11 ¢) 16 - 191 d) 17 -

13 5 13 1 7 2 N 2

Good Luck!
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